
STREAMLINE

VG-RS126

Streamrack 

Code:

Product:

®

I N S T R U C T I O N  M A N U A L 

INSTR-VG-RS126

English



2 W: www.streamline.systems   E: sales@streamline.systems   T: +44 (0)1626 830 830 W: www.streamline.systems   E: sales@streamline.systems   T: +44 (0)1626 830 830 3

STREAMLINE ®

Safety Regulations Use

Recommended Fixing Method

Required PPE 

Warnings General 

•	 Sharp edges

•	 Moving Components

•	 Pinch Risks

•	 Weight when moving

•	 Fall Risk

•	 Must be tied down in van

•	 Do not exceed a weight of 25kg when loading each shelf.

•	 Large objects should be secured in place during transit to prevent damage to 	
	 the racking unit.

•	 Do not climb on racking unit.

•	 Note: Extra caution should be taken when drilling holes into a vehicle. Take 	
	 care not to damage the bodywork or vital elements of the vehicle  
	 when drilling.

•	 Position the vehicle in the desired location in the vehicle, if this is over a 	
	 wheel arch, the height configuration of the racking will need to be changed 	
	 (see below).

•	 Once positioned, measure the location of the floor brackets from the back 	
	 and side of the van. use these measurements to then check that he underside 	
	 of the van is clear from obstruction for drilling.

•	 Mark the hole centres of the fixing points on the floor brackets, three holes 	
	 should be marked on either side, with at least an additional 3 along the long 	
	 side of the unit. Move the racking to drill 8mm dia. holes in the 
	 correct positions.

•	 Replace the racking unit in position and secure using M6x50 bolts and  
	 washers, with M6 nylon nuts and washers fastening the bolts from the under	
	 side of the van.

•	 The back panel of the racking should be securely fixed to the wall panels of 	
	 the van. It is recommended that all fixings should be to the inner skin of th
	 vehicle, not the wooden lining. Care should be taken that there is enough 	
	 space between the inner and outer skins to not damage the bodywork of  
	 the vehicle.

•	 The shelf units have dedicated holes which can be used to secure them to the 	
	 walls of the vehicle. Ensure that the fixing points are free from obstruction 	
	 before drilling.

•	 Use suitable length M6 bolts with M6 washers and nylon nuts to secure the 	
	 racking unit.

Additional protective equipment such as a dust mask, non-skid safety shoes, hard hat  
or hearing protection may be required depending on the safety regulations in the  

operator surroundings.

Use personal protective equipment to avoid personal injury:

Protective Gloves Protective Footware



4 W: www.streamline.systems   E: sales@streamline.systems   T: +44 (0)1626 830 830 W: www.streamline.systems   E: sales@streamline.systems   T: +44 (0)1626 830 830 5

Streamline® Warranty 

The warranty on all Machines and Equipment is 
for 1 year (12-months) from RECORDED DATE 
OF PURCHASE.

THIS WARRANTY EXCLUDES NORMAL  
MAINTENANCE ITEMS, including but not limited 
to HOSES, FILTERS, O-RINGS,  
DIAPHRAGMS, VALVES, GASKETS,  
CARBON BRUSHES and damage to motors 
and other components as a result of failure to 
replace normal maintenance items. THIS LIST  
IS NOT EXHAUSTIVE.

If Streamline® receives notice of such defects 
during the warranty period, Streamline®  
will either, at its opinion, repair or replace  
components which prove to be defective.

Replacement parts will only be supplied under 
warranty, upon the inspection and approval of 
the defective parts by Streamline®.

Should it be necessary to supply replacement 
parts before the opportunity to inspect, these 
will be charged at current prices and credit will 
only be issued upon subsequent inspection and 
warranty approval by Streamline®.

The customer is responsible for the cost of 
return of the defective part. If warranty is  
approved, Streamline® will pay for the cost  
of the repaired or replacement part.

This warranty excludes the following conditions 
and circumstances which are at the discretion  
of Streamline®:

Wear and tear, misuse, abuse improper  
maintenance, frost damage, the use of chemicals 
other than those supplied or approved by  
Streamline®, improper installation or repair,  
unauthorised modification, incidental or  
consequential costs, loss or damage, service,  
labour or third party charges, the cost of  
returning defective parts to Streamline®.

This warranty constitutes the exclusive remedy 
of any purchaser of a Streamline® unit and is in 
lieu of all other warranties, express or implied, 
including without limitation any implied war-
ranty of merchantability or fitness for use, to 
the fullest extent permitted by law. In no event 
shall any implied warranty of merchantability or 
fitness for use exceed the term of the applicable 
warranty stated above and Streamline® shall 
have no other obligation or liability.

Important

Unfortunately these rights cannot be  
transferred to a third party.

STREAMLINE ®

Height Configuration 

Maintenance

•	 The Streamrack is supplied in the low height configuration. It can easily be 	
	 changed to give additional height, ideal for being fitted over wheel arches.

•	 To change the height of the legs, first remove the 4x bolts holding the legs 	
	 onto the body of the racking on one side. Each leg has 2x bolts, fitted into 	
	 clinch nuts on the shelf unit.

•	 Once the bolts are removed, slide the legs down until the other set of hole’s 	
	 line up with the clinch nuts on the shelves.

•	 Re-fasten the bolts into the clinch nuts, ensure they are tight but take care 	
	 not to over-tighten as this may damage the unit.

•	 Repeat this for the legs on the opposite side.

•	 If water is spilled onto the device, wipe it clean with a dry, lint free, non-abrasive cloth to 	
	 prolong life

•	 Regularly check for excessive wear and tear, discontinue use if there is damage to any 	
	 fixings or fastenings on the unit.

General 



6 W: www.streamline.systems   E: sales@streamline.systems   T: +44 (0)1626 830 830 W: www.streamline.systems   E: sales@streamline.systems   T: +44 (0)1626 830 830 7

•	 STREAMLINE® systems can be built according to customers’ exact requirements

•	 For non-standard systems, the user’s needs or specifications are listened to and turned  
	 into reality.

•	 Whilst price is important, quality is remembered long after price is forgotten

•	 We insist on sourcing brand name products from around the world, only of a reputable  
	 quality, and bring them together under the STREAMLINE® name

•	 All STREAMLINE® products carry a full one year’s warranty, according to the manufacturers’ 	
	 standard terms and conditions of sale.

•	 We have an in-house technical helpline able to answer most of your questions relating to the 	
	 capabilities and functionalities of all STREAMLINE® products

•	 If we get it wrong, we will put it right. If you are sent a wrong item, we will immediately  
	 attend to sending you the correct item and arrange a collection of the wrong item without  
	 any quibbles

•	 STREAMLINE® is backed by a comprehensive range with massive stocks providing you with a 	
	 ‘one stop shop’ for all your requirements.

Flexibility 

Quality  

Service 

Why Streamline®?

MANUFACTURED  
IN THE  
UNITED KINGDOM

CHECKED AND  
TESTED BY  
QUALITY CONTROL

Notes 

STREAMLINE ®



Hamilton House, 8 Fairfax Road,  
Heathfield Industrial Estate,  
Newton Abbot 
Devon, TQ12 6UD  
United Kingdom

Telephone: +44 (0) 1626 830 830 
Email: sales@streamline.systems 
Visit: www.streamline.systems INSTR-VG-RS126


